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General Instructions for students : ey S oL A

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: Which country is located in the north of Pakistan?

S O hib o Ut JE S el Je
a) India S b) Afghanistan u[;ﬁg,};

(©) China u;‘f djtran— Jf /|

4) Use black/blue ink for writing. Use of lead pencil is not allowed.
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5) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: The main reason for the division of the lithosphere into small and large parts is:
o A P el § A
(a) Foldings jjj,’ (b) Volcanism d[;;a JJT
(c) Faults 26 (d) Earthquakes s
Question No.2: The most abundant elements in the Earth's inner core are:

be . . . .
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(a) brass and nickel Jg 9 ﬁ' (b) nickel and iron l[}J J3l JQ
(c) silicone and magnesium (f{? 9 U!gt/ (d) silicone and iron l!’J s u);L’




Question No.3: A seismograph is used to find the:

et L3S o i 3 4 iy
(b) magnitude of an earthquake h._.d/‘;; JL//

(a) amount of rain I8 JJJL
(d) intensity of heat - Jd/

(c) speed of wind /B/ JU;

Question No.4: The cause of weathering in arid and desert areas is:

:ca,?;d/gfm/'fuﬁu}w&fmuéf :4/Ju~
(b) heavy rain 8;&) JJJL

(a) difference in temperature J/ uf,' o7 o
. . . (d) the difference between day and - o
(c) high winds u.‘.’ﬁ K night J/ Kol sl o

Question No.5: Types of denudation are:
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(a) three B4 (b) four e
(c) five é’L’ (d) Six Z

Question No.6: The gas used for cooling in refrigerator is:
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w7 (b) Nitrogen Cﬁ’/bjb

K

(a) Oxygen :
(c) Carbon-Di-Oxide j;[,ff é;j u/{ (d) Chloro Fluoro Carbon uj,{,/,g,/,g

Question No.7: It is essential for the growth of plants and animals:

it o f 1 2 L s d/c«ble sl sy 27/} Jis

’ (b) vitamins §d?)

(a) protiens iz
(c) carbohydrates u’ff/jf[[,gg (d) fats uj‘f
Question No.8: Freezing point is the temperature at which water changes into:
ch.t‘lgngf“f&&y%c‘_gﬂf,?ﬂu)%lﬁ :8/J'}"
(a) liquid U é[, (b) ice o S
(c) vapours uﬁ s (d) gas u:’ J.‘f//
Question No.9: The unit of measurement of air pressure is:
e 3 S a5 L 9 4 Ui
() Milli meter P (b) Milli bar Ad
() Milli gram r.f& (dl) Milli liter P &
Question No.10: The winds moving from high pressure to low pressure areas are called:
e b1 bl e L8l e Bl K USI 210 7 i
(a) storm uu,b (b) wind ‘f’lff
(c) cyclone oS (d) flood U

Question No.11: Rainy season in Pakistan starts in:

:c‘_t"n@;/“(r(u“vguﬁul“/@ :11/Jw
(b) summer u;f Lj(,»

(a) winter Ut L/ (/
U7

(c) spring uﬁ JLZ{ (‘,f (d) autumn
An important thing in the creation of humans, animals, and plants is:

Question No.12:
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(b) water d.li

(d) fire JT

(a) air | 87

(c) soil 6’



Question No.13: The important means of irrigation in Balochistan is:

L
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(a) tube-wells J:, u}f (b) karezez Z/K
(c) wells u:y'/ (d) springs 4“’}
Question No.14 : Zaheer-Ud-Din Muhammad Babar was a very powerful and courageous ruler because he belonged to:
(% J‘;Kw EL G s et s )7l P e .{ugfq»wﬁ 14 A Uiy
(a) Rajput family & JILb oy, (b) Mongol and Turk family & JILb J}‘ m J,é
(c) Sadaat family = YL el (d) Irani royal family = YL § &1/“;
Question No.15: The greatest wisdom of Shahanshah Akbar to replace the feudal system into ""Mansab Dari" was:
:fofdchd/’g/éu(w St s S Ju S 18 S b & A1a* 115 4 Ui
(a) gaining power J,‘V Kl (b) to resolve administrative issues L/J’ J‘/L/ S
(c) the welfare of the people a2l s UL Jﬂf (d) conspiracies of feudal lords u:éj[/ Ju,/')[[?
Question No.16: The most important role played for finishing of Deen-E-Elahi of Jalal-U-Din Akbar was of:
:La?/l;/(«'lLquﬁa;/fj/uzjl@;éﬁqquJUg :16;}J|f
(a) Sheikh Mubarak {__,Cl/» 5 (b) Hazrat Shiekh Ahmed Sarhindi ng/ yd 5: = 2

(c) Noor ud Din Muhammad 4 . . o o o5 .
Kﬁq{? i (;):/JUJ’ (d) Hazrat Shiekh Saleem Chishti (6’3 ré’ C ¢/>

Jahangir

Question No.17: A building included in the "seven wonders" of the world, and is heartening to see again and again is:
e Gl b A 2 el L e e L 217 A i
(a) Red Fort of Delhi A,J:s’ JU KJ’U (b) Sheesh Mahal J; u’:&

(c) Wazir Khan Mosque Jb s ﬁ"‘ (d) Taj Mahal J; oy
Question No.18: After the death of a Mansabdar; all of his property was confiscated in favour of:
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(a) Government JK/ (b) parents d’d”
(c) needy people Usar s 2 (d) wife Sy
Question No.19: The policy of the Mughals that made their peoples loyal to them was:

:éfuijbti) JUIU&/:_,?J Ju) u)“j.lzd/u)’” :19/72‘.)!/

(a) political u’&, (b) religious u:z'/;
(c) social L;.L-‘ (d) educational u‘:w
Question No.20: Battle of Plassey was fought between:
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L Uy sl b 2
(a) Siraj Ud Duaulah and British (b) Tipu Sultan and Marhatas ¥
U O]

Z U sl s o Z uyf” I KO

(c) Siraj Ud Daulha and Marhatas (d) Siraj-O-Dolah and Sikhs

O] O]
Question No.21: The shortcoming of Muhammad Moazzam (Bahadur Shah 1) that weakened the system of government was his:
:.Lfyzuf/:/); (U:J/“pb Jgf d/u Uﬁ(dﬁl o@/)l/)(hyj ZZI/JU‘
(a) gentle temperament J[/ r/ (b) generosity d) @1/

(c) weak judgment power d/’/d/»-l"d’ &} (d) lack of education JJ(Z{’J



Question No.22:

(a) cheerful
(c) weak

Question No.23:

(a) 321 years
(c) 341 years

Question No.24 :

(a) 1761
(c) 1799

Question No.25:

(a) Karachi
(c) Lahore

Question No.26:

(a) Peshawar and Quetta

(c) Faisalabad and Rawalpindi

Question No.27:

(a) village
(c) province

Question No.28:

(a) India and Pakistan

(c) China and Pakistan

Question No.29:

(a) national trade

(c) balanced trade

Question No.30:

(a) Pothohar Plateau

(c) nothern areas

Question No.31:

(a) 1767

(c) 1800

Due to Bahadur Shah's kindness, many Governors became:
:i%i/‘c:«f(éuv.@/)! 07!/ () Jolf?/)l.z{ :22/7‘/J|/
J, u’“}? (b) strong

s (d) rich P

Mughals ruled over Sub-Continent for:

s =3l
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Jlf 321 (b) 331 years Jl/ 331
J- 341 (d) 351 years Ju 351
Haider Ali died in:
&l: = by J‘ I :24/ Jis
. 1761 (b) 1782 Ut 1782
U~ 1799 (d) 1857 Ut 1857

The first Nuclear energy plant in Pakistan was established at:
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(b) Chashma

uﬁ@n/
D)

Factories of Automobile are located in:

(d) Islamabad
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All the buyers and sellers involved in the domestic exchange of goods and services belong to:
g v ey 2_/:25/ w7 L elis (B e e sls” (,g :27/7} Jisy
Z Uik [ (b) city s ﬁp L
Lo Ll L [
The Silk highway is important source of link between the two countries:
e 25 A KL L 2 5 f’u ol £ :28/ Jis

(b) Afghanistan and India ] uL’;.JL,ﬂ

u.’fgul ﬁ) ,ﬁ

(b) Lahore and Karachi

(d) Multan and Faisalabad

(d) country
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Bilateral trade with other countries is called:

(d) Bangladesh and China
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c«/lf ua (b) International trade c«/l.; U}t&
;‘ulf Ok (d) local trade ca/l.; du{‘

The ancient area for the production of mineral oil in Pakistan is:
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/[[,af’,! 8?/ i/ (b) Baluchistan Pleatue
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British, Marhattas and Nizam Hyder Abad attacked on Mesoor in:
.Q-(,L? 4 It )LT I (UvJ »l U, ‘u;'/“/l 31 / J!y’
1767 (b) 1785 U 1785

U~ #1800 (d) 1857 U~ #1857

(d) coastal areas



Question No.32: In 1767,Haider Ali defeated the British by:
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(a) creating revolt in the British army L/u, u’u u" Z/ ‘// b) separating Nizam of Haiderabad J . f

from British army Z:/ufk

~ >
(c) separating Marathas and Nizam }()U I rU?J 23 u}f’f/

of Haiderabad from British Z:/oﬁkc_,uy//{(i (d) defeating the Sikhs /G)&g/u}mﬁ



